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Good afternoon all,
To estimate missed opportunity for IPT3 among women aged 15-49 with at least 1 live birth in the
2yrs preceding survey who also had at least 4 ANC visits, what would be the most appropriate
denominator?

1) Women aged 15-49 who had a live birth 2 years preceding the survey and who attended ANC
at least 4 times in their last pregnancy and received less than 3 doses of IPTp SP
                                                                    ÷
Total number of women aged 15-49 who had a live birth 2 years preceding the survey and who
attended ANC at least 4 times in their last pregnancy.
(2103)
                                                OR

2) Women aged 15-49 who had a live birth 2 years preceding the survey and who attended ANC
at least 4 times in their last pregnancy and received less than 3 doses of IPTp SP
                                                    ÷
Total number of women aged 15-49 who had a live birth 2 years preceding the survey 
(4087)

I'm thinking it should be the first=2103
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